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11th Printing

(Entries in this section apply to 1st through 11th printings)
Page 19 – table 1-5 – row for step 1 – Propagation delay of “.002” should instead be “.00024”, which is the same as .24 microseconds. row for step 2 – propagation delay – instead of “.0004”, it should be “.000048”, or .048 microseconds.

Page 175 – last paragraph – 2nd line – phrase "…or it might not,…" should be deleted to remove ambiguity. 

Page 176 – 3rd paragraph – end of 1st line – text "…port 1/2" should instead read "…port 1/1".
Page 218 – 1st paragraph – last line – “…the private VLAN…” should state “…the native VLAN…”.

Page 279 – figure 5-14 – packet 6’s sequence number should be “64,768,000” instead of “65,536,000”. Packet 12’s sequence number should be “64,768,000” instead of 65,536,000”. Packet 14’s sequence number should be “6,476,800” instead of “6,553,600”. Finally, Packet 16’s sequence number should be “12,953,600” instead of “12,954,600”. 

Page 279 – gray area near the bottom of the page – Number 10 is in an incorrect location in the list. Instead of being 3rd from the end, it should be between “5” and “1”.

Page 280 – figure 5-15 – packet 6’s sequence number should be “10,794,000” instead of “10,694,000”. Packet 12’s sequence number should be “64,768,000” instead of 65,536,000”. Packet 14’s sequence number should be “6,476,800” instead of “6,553,600”. Finally, Packet 16’s sequence number should be “12,953,600” instead of “12,954,600”. 

Page 280 – gray box – the numbers “2, 8” in the list of numbers should be reversed.

Page 280 – 1st paragraph under figure 5-15 – 3rd line – “(SN 12,954,600)” should be “(SN 12,953,600)”.

Page 348 – 2nd to last paragraph – both occurrences of “91.25” should instead be “93.75”.

Page 349 – figure 6-6 – all references to “91.25” should instead be “93.75”.

Page 373 – 1st paragraph after example 6-2 – 2nd sentence – phrase “… MQC commands configuring LLQ.” should instead by “…MQC commands.”. There is no LLQ configuration in the example.

Page 530 – Table 9-4 – row with command mls qos trust… – the correct syntax should list a dscp keyword after the pass-thru keyword. One such instance exists in each column. 

Page 649 – question 1 – correct answer should be “B and D”

Page 649 – question 3 – correct answer should be “A and D”. CB Policing can re-mark a packet’s DSCP value.

Page 698 – question 6 – answer – should be “E”.
10th Printing

(Entries in this section apply to 1st through 10th printings)
Page 335 – question 11 – Answer C should be changed to “8000 and 16000, respectively”.
Page 680 – question 8 – correct answer should instead be “E”.

Page 680 – question 11 - The correct answer should be listed as “C” (after making the change listed here for page 335).

Page 681 – question 12 – the correct answer should be listed as “D”. The explanation should be replaced with the following:

 “CB Policing does not use a concept of a time interval (Tc) internally, but you can use the Tc concept when configured policing use the percent keyword. With the police percent command, the Bc parameter actually represents the same concept as Tc, because the actual Bc (in bytes) can be derived by multiplying the policing rate (calculated as a percent of the interface bandwidth) times the number of milliseconds configured for Bc in the police percent command. The math is a simple derivation of the same Tc = Bc/CIR formula used with CB Shaping.”
4th Printing

(Entries in this section apply to 1st, 2nd, 3rd, and 4th printings)
Page 23 – 1st of 4 indented formulae near the bottom of the page – “108” should be “108” (10 to the 8th power)

Page 47 – table 1-17 – row for “propagation” – 3rd column – “About 5 ms/100 km” should instead read “About 5ms/1000 km”.

Page 48- 4th line after figure - "Packet 4 does not arrive until 45 seconds
later" – seconds should be milliseconds.

Page 77 – table 1-30 – row for “propagation” – 3rd column – “About 5 ms/100 km” should instead read “About 5ms/1000 km”.

Page 155 – 1st paragraph after heading “example 5” – the “match class” command is an abbreviation; the full syntax is “match class-map”.

Page 156 - 1st line under the example – “class-map match-any" should be

“class-map match-all”.

Page 156 – indented text near the middle of the page – the phrase "…UDP ports between 16384…" should state "…even-numbered UDP ports between 16384…"

Page 279 - Figure 5-14 – reading left to right in the first long rectangle, the packet numbers should be Packet 4, Packet 3, Packet2, and Packet1; currently, the last two packets are both called “Packet1”.

Page 352 - figure 6-9 – The figure shows three rectangles across the top of the figure. In the middle rectangle, the text "send 16000 bits in each interval" should

state “send 8000 bits in each interval”.

Page 363 – After “CB Policing…” heading – 2nd paragraph, last line – “considered to

exceed…" should be “considered to violate…”.

Page 401 – figure 6-23 – same as error on page 352.

Page 482 – figure 8-8 – caption to the figure – should say “Single FIFO” instead of “Dual FIFO”

Page 599 – table 10-14 – last row, 3rd column – decimal value “25”, representing AF31, should instead be “26”. Also, make same change to table 10-26, page 629.

Page 673 – Answer to question 14 – The formula should be:

Previous SN + (weight * New packet length).
2nd Printing

(Entries in this section apply to 1st and 2nd printings)
Page 655 – question 7 – answer should be “C”

Page 663 – question 7 – The answer is still D, but replace the explanation with “CEF is required before CB Marking may be configured; therefore, the service-policy command in the question would actually be rejected.”
1st Printing

(Entries in this section apply to 1st printing only)
Page 123 – gray highlighted note – “RFC 2360” should instead be “RFC 3260”. 

Page 223 – first bullet point – “Voice Activation Detection” should be “Voice Activity Detection”.

Page 270 – between the first two paragraphs – missing the following formula: 

(Byte count for queue x) /  (Sum of Byte Counts for all Queues)
Page 277 – the second formula – should be 

Weight = 32,384/(IP_Precedence + 1)

Page 280 – grayed note in middle of page – packet 10 is missing from the list. If should be between “8” and “3”.

Page 371 – paragraph after “grayed NOTE section” – line 4 – The terms “Sustain bits/sec” and “Excess bits/sec” should instead list “int” instead of “sec”. “Int” stands for “Interval”.

Page 394 – last line of page – “128Kbps” should be “256Kbps”.

Page 405 – Table 6-17 – last column – the cell reading “1st bucket => packet size; decrement 1st bucket by packet size” should say “…decrement 1st and 2nd bucket by packet size”. Cell below that, phrase “…decrement BOTH buckets by packet size” should say “decrement 2nd bucket by packet size”.
Page 530 – Table 9-4 – right column – cell heading “mls qos trust dscp” – text reading “….to trust the cos value…” should instead be “…to trust the DSCP value…”.
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